PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
18th July 2016, 03:00 PM
Topic:- General and Logical Knowledge
1)
Question Stimulus :-

River Kshipra merges into the__./d R __# faefi= g1 ot 21
e Son/¥H
e Swarna / &Uf
° Narmada/qﬁET
e Chambal / d€d@
Correct Answer :-Chambal / 9dd
2)

Question Stimulus :-

The protest against the Salt Law led to the / WW%WWQWW%WW |
® Dandi March /E'iﬁ A
® Quit india Movement / HIRd Eﬁ?:?f 3I'IT:ﬂ?FT
® (Civil Disobedience Movement / '\‘I'ﬁzl'q AT Gﬂa?lq
® Khilafat Movement / IECRIL ] Gﬂa?ﬁ

Correct Answer :-Dandi March / &gl AT

3)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / fFg Uy #
98 T T DIford ot aTfehal I e 8]

e Horse and stable / ‘Eﬁ?ﬂ 3R 3T
e Birds and Nest / faIf$ar 3R aiger
* Dog and Den /WGﬁTTﬁT



e Sheep and Pen / ﬂgaﬁvw
Correct Answer :-Dog and Den / $IT 3R &1
4)
Question Stimulus :-
What does WWW stands for? / S| S = ®T [T ¥ FT 82
® Whole World of Web / BIdl IS 31 a9
* Wide World Web / 9¢8 dTSS a9
* Wild World Web / 9SS 9¢s a9
® World Wide Web / 98 ATSS 49
Correct Answer :-World Wide Web / 9¢S dI38 a9
5)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faeea ﬂﬁt{
Si T T Y=l vd el & R d 9E B

Statements: / ®Y-:

All roses are flowers / i a9 & §

All lilies are flowers / I 7i¢ Pd %
Conclusions: / fpu:

I. All roses are lilies / 1. H‘l-ﬁﬂ?l'lﬁf%l?ﬁ%'
II. All lilies are roses / II. Gt frelt 7o &

® Only conclusion | follows / Fad ey I fAwaar %
® Only conclusion Il foIIows/aﬁﬁ forsed 1| fpaar %
® Both conclusion | and I foIIows/aT'ﬁ foreed 1 Gﬁ? II foad %’
® None of the conclusion | or Il follows/ﬁ'mﬂf IGTIIH A m T'I"a ferean %
Correct Answer :-None of the conclusion | or Il foIIows/ﬁWﬁf ITTIIH A aﬁ% q?f IREASGI %

6)



Question Stimulus :-

P+Q means P is the son of Q; P-Q means P is the wife of Q, PxQ means P is brother of Q,
< Q means P is mother of Q and P=Q means P is sister of Q. / P+Q Hﬂmﬁﬁ'% P, Q ?:FTQET%;
P-QFIHIGIEP, QP Ul S, PX QBTHAAI G P, QBPTHE ], P+ QHFIHAAd & P, Q HI Hi g 3R
P=Q &1 Hdwd § P, Q & 984 &I

What does U=W+V mean? / U=W+V &1 T A9 g2
° UistheauntofV/U,Vﬂﬂgaﬂél
® Uisthe sisterofV/U,VaﬂW%I
® U is the daughter ofV/U,Va”ﬁaff%I
° UisthenieceofV/U,Vaﬂ'l-R'ﬁTrﬁ%I
Correct Answer :-U is the sisterof V/ U, Vaﬁﬁq%l
7)

Question Stimulus :-

Harshita Tomar is related to which of the following sports? / Gﬁ%lT TR ﬁ"}lﬁ'@ﬂ T ¥ forg @a § dafta
82

® Mallakhamb / HIWH

® Sailing / HIfeT

® Kabbaddi / PG

® Women’s Hockey / TI'I%FIT 3'73%
Correct Answer :-Sailing / ST
8)
Question Stimulus :-

In the following sequence, how many letters are followed by a number and then a symbol? / g SJhH ﬁ, fea
&R T § oo 91 Uep IWIT U9 IS 916 TP Udid 22

Y4&L>2G7WATZ*K6S7TH6SE&(R13N5@5+?QJ*3P9?#5YH% 7B8<6
. 4
e 5
e 3



e 8
Correct Answer :-5
9)

Question Stimulus :-

A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women's
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organlzatlon /

A,B,C,D,E 3R F U% 909 & U &1 59 9qg ¥ qf faarfza wits &1 A, D & ufay &1 u1s 31 C 3
3f&ar af$ fa= TaRyeeE 91 sreaen B1 F, U RdRare®, $arT 81 B @1 Ul 39 o9 9 Yo gl
2| 57 @ IR fe TP & TR S TeW 1 B IR F, TP & wre & wewH 2

How is F related to B? /F, B § &4 Hdfud &2

® Brother /‘1-|T§

¢ Nephew / Yo et

e Father /fUdr

e Data inadequate / STUaiw Set %
Correct Answer :-Data inadequate / 3Maiw S¢T @
10)

Question Stimulus :-

Which is the largest Shipyard in India? /HTRd § JaX S8T Ud WRTUT B 4T 32
® Cochin Shipyard / DI Uid WiT0T
® Hindustan Shipyard / %WFT CIGR' UL
® Goa Shipyard / MET 9 WiToT
® Naval Dockyard / AT AprYTe
Correct Answer :-Cochin Shipyard / @It Uid WivT0r
11)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / Tfe It 3R W 3l ) g7 F 91 F1 F T wies forar smar @, ot Ay fawe & @
o A e °§ vas erff o feurd ™ waw ¥ faudia &2



Correct Answer :-

12)

Question Stimulus :-

The capital of Kashi was / ST B IS H

® Pataliputra / tl'l??ﬂ'ﬂa

® Varanasi / JRTOTHY

® Taxila / d&ffRrar

® Kaushambi / ﬁ"lﬂﬁ
Correct Answer :-Varanasi / GIRTURT
13)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawpea ﬂh"'{,\_rﬁ L] T
A RRTTFEFA SIS :

It is not true that both Hyderabad and Bangalore are in India. /quﬁ%%%mx’rﬁ?
TR 1 & URa H B

e Hyderabad is not in India or Bangalore is not in India. /%mwmﬁq-é’f%mw



yRd o 781 2

e Hyderabad is not in India and Bangalore is not in India./ SRTITE HIRT H 81 § 3T
TAR URA | B

e Hyderabad is not in India and Bangalore is in India / 823TdI¢ HIRd # gl & 3MR STaR
YRAH

* Hyderabad is in India and Bangalore is not in India./ %Wﬁlﬂﬁﬁ%&ﬁ?aﬂ?ﬁ? HIRd
o T 2
Correct Answer :-Hyderabad is not in India or Bangalore is not in India. / BERTETG YRd |
8 8 91 SER YRa § A81 81
14)
Question Stimulus :-
K is 5th from the left and M the 6" from the right. When they interchange their positions, K is the 13 from the left.

What is M’s position from the right? / KET?@?@W@MEI{W@W% oq O 3y fRIfT &1
3TUH | F¢ATd X Ad §, K I15 3R I dgal g1 oITaT 8| oTs 3k 9 M & fRufar @m 82

® 4th

® 8th

® 14th

® 15th
Correct Answer :-14th
15)

Question Stimulus :-

Directions: 5 persons are sitting in row. One of the two persons at the extreme ends is
intelligent and other one is fat. A fat person is sitting to the right of a weak person. A
tall person is to the left of the fat person. And the weak person is sitting between the

intelligent and fat person/ﬁ%&T;SWWﬁ%ﬁ%@?IWW%QWﬁ@W
ST B YT GRIRT HIeT 31 TP Hiel sAfad U HUVIR Afad & alie 3R 961 81 TP &aT afad drer
e & I8 3R 93T 31 3R FUWR afda giga R wie aafea & S § 9871 71

Which of the following persons is sitting at the centre? / 59 & 19 I1 @ufed &g A o1 @2
e Intelligent / gfa™
e Fat /HIel
e Fair /7RI



e Weak / FHVR
Correct Answer :-Fat / ®lel

16)

Question Stimulus :-

is a permit which allows a country or organization to produce certain amount of carbon emissions. /

TS 3JT-UF 3 S Th =0 AT TS & 1€ 11 Ieqoi @1 A aram & Iaure e & fo srgafa
g

e Carbon stock / BT HISR

e Carbon store / BT MGTH

® Carbon copy / P THd

® Carbon credit / BTaT Yedd

Correct Answer :-Carbon credit / BT Yedd

17)

Question Stimulus :-

Bhimbetka caves are famous for its / Wradesdr '{IEFI'E Eﬂa? ﬁl’E uﬁl?s{ %'I
® Sculptures / Eﬁ'hT
® Tiger parks / CISIR Tt
® Rock paintings / PIGRCE
® Cave art /[T Hel
Correct Answer :-Rock paintings / qd =
18)

Question Stimulus :-

This king embraced Buddism after the Kalinga war / S XTSIl = Sfeir & & yTd 9d& o B SrUETAT AT

® Bindusara /ﬁg'\tn?

® Rashtrakoota /YTgPC
® Ashoka / 3IMPp



® Akbar / (PR
Correct Answer :-Ashoka / 3/N®
19)
Question Stimulus :-

The Attorney General of India is appointed by the President under J HIRd BT Wﬁﬂ Tl'gqﬁl' IR
& a5 frgad foean wirar 21

* Article 165 / 359G 165
* Article 76 / 3G 76

® Article 148 / 3TSIG 148
* Article 153 / 355G 153

Correct Answer :-Article 76 / 3I%G 76

20)
Question Stimulus :-

Who holds the record of making the longest speech in the history of the United Nations? / ﬂ'{ﬁﬁ MY & '{ﬁrs'm H

HIH AT U ¢ 1 bl fopam amman?
® VK Krishna Menon / 9T Call A
® Narendra Modi / W 'FﬁT:ﬂ
® Vladimir Putin / TGHR gfa=
® Dr. Manmohan Singh / gl m%qﬁ-l?

Correct Answer :-VK Krishna Menon / 9 Gyl T4

21)
Question Stimulus :-

Who was the first female Governor of Madhya Pradesh? / ] 'Q%QT B UYH 'Fl'f%?ﬂ IUTd P A2
® Sarla Grewal / I¥dl Yara

® Sheila Kaul / e o
® Sarojini Naidu / RIS ATIg



® Sharda Mukherjee / RMMRal 'ﬂ@ﬁﬁ

Correct Answer :-Sarla Grewal / I3dl Jardd

22)
Question Stimulus :-

Who among the following won the election of President as an unopposed candidate? / frafafea 9 9 feaq U

fAfRy Srftqar & wu § wguf &1 gama sitar?
® Dr. Rajendra Prasad / ST J01% UTG

V.V. Giri / dt.4%. iy

Sanjeeva Reddy / W@

® Dr. Zakir Hussain / 1 ST gﬁ?

Correct Answer :-Sanjeeva Reddy/ﬂ"\_rﬂa@

23)
Question Stimulus :-

The number of states in India are / HI¥d s | TI\_:Cﬁ CAR:EC | %
° 28
° 29
® 30
° 22

Correct Answer :-29

24)
Question Stimulus :-

Direction: A person is asked to put in a basket one apple when ordered one, one guava
when ordered Two, one orange when ordered Three and is asked to take out from the
basket one apple and one guava both when ordered Four. The order sequence executed by

the person is as follows; / fA¢Y: T afdd &1 T w3 A TP A9 S F o g7 &1 & &9 TP
TR 4T T, TP 3T T GORT M AT 74T, U WeRT o R e faur war iR 9w U A
sﬁvqgsmﬁmaﬁaﬁwwmﬁmen%wﬁ,mW| TSR & 3 TP Afad gRT fFAwaifed 59
UPR ©;

12332142314223314113234



How many guavas will be there in the basket at the end of the above order sequence? /

FWR F AR & ATHA & 3d W P H fFa 3me 79 g2
e 1
e 2
e 3
e 4
Correct Answer :-2

25)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu ﬂﬁlﬁ,\_rﬁ a& Bt TP

ARt eI TR :

If he goes by walk, then he will miss the train. He didn’t missed the train./ gfe a8 Uea
ST B, a1 SHB! 3 Fe STl 31 ITD! e Yol 7Ll |

e He didn’t go by walk / 98 9¢a &l 741
e He went by waIk/a's'ﬂa?HTCIT
e He went by car /98 B ¥ 14T
e None of the above / IWRIad HIs el

Correct Answer :-He didn’t go by walk / 98 Uqd T8} 41

26)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / <79 U% 'Ef, Ugd ol uel & o fopedt
TR A B3 way g| 7 fawen & F @tar ug g e i ue & 91y St ueR &1 96y 8|

ABD : CDF :: MNP : ?
® KLM
® ILNO
® VXY

® EFH



Correct Answer :-EFH

27)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fase gfQ
it f3E e Sy vd fspuf & 9 § 98 2

Statements: / ®Y-:

All bottles are iron / I Siad ?ﬁ% %

Some bottles are paper / $ Sldd B &
Conclusions: / fmd:

I. Some iron are paper / 1. W?ﬁ%@‘mﬁ%

II. Some paper are iron / II $9 W?ﬁ% %

® Only conclusion I follows / Fad faeed 1 Heedar %

® Only conclusion Il foIIows/aﬁﬁ s || T %

® Both conclusion | and Il follows / GIFIi s I 3R 11 Frpaq %

® None of the conclusion | or Il foIIows/ﬁlﬁﬂf ITTIIH A aﬁ's‘ T-Iﬁ IGEASGI %
Correct Answer :-Both conclusion I and Il foIIows/aT-ﬁ frsed 1 3R 11 e %

28)
Question Stimulus :-

Where is the headquarters of the Western Naval Command located? / gf3rft NI HHiS BT qEATed ogl
@ e

* Kochi/ P
® Karwar / PIRAIR

e Mumbai / Hd3
o Goa/TﬁﬂT

Correct Answer :-Mumbai / 44§

29)

Question Stimulus :-



If cream cracker means computer programming, and it’s not programming, then it’s
not cream cracker. / 9f¢ H1H $HHR BT a9 S AT B, 3R T8 TR =3 8, 99 ag A
HHT B B

e True / Wa!

* False / Tad

* Maybe / § §&ar §

e Irrelevant / 3MRIf®

Correct Answer :-True / Ig!

30)
Question Stimulus :-

Which Mughal Emperor built the Taj Mahal? / dTSl Hgdl o HIU ITSIT = g7aT4T U1?
e Shah Jahan / qMTE QT
® Bhahadur Shah / dgTgN 2ATe
® Akbar / APaAX

® Aurangzeb / S

Correct Answer :-Shah Jahan / XITg W&l

31)
Question Stimulus :-

In which hemisphere does India lie? / HIRd fory Merg A 32
e Northern and Eastern / TR 3R q:c?f
e Southern and Western / GI&f0ft 3N ufydt
e Southern and Eastern / &f&f0f} 3R 'l]ﬁf
e Northern and Western / S¥31 3R uf3f}

Correct Answer :-Northern and Eastern / 331 3% udf

32)

Question Stimulus :-



The Bhakra Nangal project is on the river / HTEGST T IELIEE| 9 ¢l W f
® Damodar / ETFﬁﬂT
® Sutlej / Hdclol
® Mahanadi / 'Flﬂ'Flé)f

* Tungabhadra / IHS

Correct Answer :-Sutlej / ddddl

33)
Question Stimulus :-

Chambal project is a joint venture of the states of / d+¢T ufarern fora gl &1 frer S[dl dledd Cap] %
® Rajasthan and Madhya Pradesh / ITSTRITH 9 =T
® Chbhattisgarh and Madhya Pradesh / m 3R g u%'\’r

® Uttar Pradesh and Madhya Pradesh / «I® TI%QT 3R g FI%QT

® Orissa, Chhattisgarh and Madhya Pradesh / m, @Ttﬂw, 3R 9 U%QT

Correct Answer :-Rajasthan and Madhya Pradesh / ITSIITH d HEI 2]

34)
Question Stimulus :-

Three friends want to hire a taxi for a trip. The taxi owner proviqes them with f.ollowing
three options: / {9 3T T a1 & AT Us il fve R &A1 9r8d §1 it wifere 3= FRuferfaa
& fawer yerm Far @

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 34 ﬁm@m%

¢RI T W @ wwa 8 SueT fwrr ufafds 2500 FUT gRITI FIgaR gt Tk & o HhdT § IUST daA

500 9T yfife=T grmI

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day if total distance

traveled exceeds 1500 KM. / B. 317 Ugdll Toidil § SEAR & 1Y SRl & THd 811 39HT 2800 ufd fgA
FUA BT WA ST AfbT I B ufd 39 250 I Aga S A1 g1, IS Fo g Bt A1 T 1500
franfier & aufe it

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 34 fomm 3133’\'%?
¢RI fHT IR @ IHd § ITPT fhwrn ufafea 2500 U ghITI SEaR gost Tolddt & o Jwdl § SUPT da-
50 99 wfa feefier givmi



Option C would be preferable to Option B if they plan to travel: / C feeas A QE?R gl'll 3R 9 99 g 3t AieEn
T

e 1000kmsin1day / 1 fe7 & 1000 f&. .
® 3000 kmsin3days/3 ﬁT'T ¥ 3000 f. 1.
® 5000 kmsin4days / 4 f&q 9 5000 f&.#1.
® 2500 kmsin3days / 3 fea # 2500 f&.11.

Correct Answer :-3000 kms in 3 days / 3 & # 3000 f&.#1.

35)

Question Stimulus :-

The Aga Khan award was presented in 1998 to Government of Madhya Pradesh for the outstanding architecture

of / ¥ IpP futor & fore weg ve=r TReR o1 1998 § ST @1 REP R fear

e Vidhan Bhavan / faem &+

® Vallabh Bhawan / dcdiYH Hd-

® Taj-ul-Masjid / ATSI-SA-H¥IG

® Bharat Bhavan / HIRd Hdq
Correct Answer :-Vidhan Bhavan / f[34™ 49
36)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg e gﬁﬁ,\_ﬂ}f TP DI T
AT HFFT S IAE :

It is not true that both Swarna and Swapna are writers. / 9g 9 Tel % o ol @At iR
WUAT AP & |

e Swarna is not a writer and Swapna is a not a writer. / Tg=t wﬁwqﬁ%aﬁ?mw
@@ 81 gl

e Swarna is not a writer or Swapna is not a writer. / T & d@® g] ¢ UT WUAT T
d@® T8l Bl

e Swarna is not a writer and Swapna is a writer. / Tl TP AG® ¢! § 3R TUAT Th d@P
gl

e Swarna is a writer and Swapna is not a writer. / ¥t wﬁw%aﬁzmwmq‘a



gl

Correct Answer :-Swarna is not a writer or Swapna is not a writer. /Eﬂf@ﬁwﬁ%
T WU TP AW@D ! o

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu qﬁrq
wil 3T T Syl wd el & R d 9 R

Statements: / ®YH:

Some tables are chairs. / $© ¢ad HRIAT 2|
Some tables are cots. / P9 99 d&d %'I
Conclusions: / fAssd:

I. Some chairs are cots. / I. $9 $Riai o B

I1. All tables are either chairs or cots / II. W 2@ a1 oY off a1 o= &
® Only conclusion I follows / Had e 1 Apadr %
® Only conclusion II follows / *ad freed 11 fAreadr %
® Either conclusion I or conclusion II follows / T a1 fsst 1 a1 fbR fosad 11 e %
® Neither conclusion I nor conclusion II follows / =T @1 forsh ¥ I fyerar % M 8 s 11

Correct Answer :-Neither conclusion I nor conclusion II follows / = a1 forspd I fApadr % MR Bl
s 11

38)
Question Stimulus :-

A sales representative plans to visit each of six companies M,N,P,Q,R and S exactly once
during the course of one day. She is setting up her schedule for the day acqording to the
following conditions: / T& fassar wfafAfy 3 a@e1 9915 91 M,N,P,Q,R 3[R S ©: # 8T TP HUl &I
fam & fparfafte araa ¥ de 3 | 9 IuFT iR &1 wrdepw a9 fban g 2l & rguR

1. She must visit M before N. / 1. 3H®I M &I N & Ugd He 341 81 Ifeu]

2. She must visit N before Q. / 2. 3°®I N &I Q & Ugd e AT gt AT

3. The third company she visits must be P. / 3. 39! Hc &1 I Hu=l P & g+ = |

Which of the following could be the order in which the sales representative visits the six



companies? / 9 & q $19 91 %H 8 IFdr g, gy fapar ufaffy ©: dufal & s gwar 82
e MS,P,NRQ
e QN,PRSM
e MRNQP,S
e P,SMRQN
Correct Answer :-M,S,P,N,R,Q

39)
Question Stimulus :-

How many times consonants exceed vowels in the word, ‘ADVANCEMENT'?/

*ADVANCEMENT’ ¥ieg ® &ioi @Rl & fvaq & ot 82
o 1
o 2
e 3
. 4
Correct Answer :-3

40)
Question Stimulus :-

Which of the following belongs to the same family as coal, ebony and soot? / ra A A o9 A I IarR @
Taifta € o fr saan, ey ok w1fera?

Blush / RRHTAT

Raven / hTdl CaR||

Ash / 19

Rust / ST

Correct Answer :-Ash / 3@

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-



Tickets numbered 1 to 10 are mixed up and two tickets are drawn at random. What is the probability that they are multiples
of 32 / 19 10 % BT & fepe 3Muy # e U 8, 2 fewve &) sifvrafira <1 | fAreTa Simar 8 | o Iv1a-T1 8 sl
AT 3T IHPBT UM 3 3TA?

® 1/5

® 1/15

® 4/15

® 2/15
Correct Answer :-2/15
2)
Question Stimulus :-

How many numbers greater than 100 and less than 10,000 can be formed with the digits 9,8,7,6,5 without repetitions?
/ T gR1gfa & i) 9,8,7,6,5 BT WANT HXPb T fpasit TEmd 99118 W1 APl @ i 200 J TSI 3R
20,000 ﬁ' PH 'g?f?

® 120

® 72

® 60

® 24
Correct Answer :-60
3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / AT 31&R TAHT 4TAT BT [T BIfOIT : _
_baa_aab _ab _a_

® ababaa
® abbaaa
® aabbaa

® aabaab

Correct Answer :-aabaab

4)



Question Stimulus :-
A is twice as fast B and B is thrice as fast as C. The journey covered by A in 9 min will be covered by Cin?/ A *I fd B
& TR A R & R B A IR ¢ ) IR @ AR 21 0 e & A gRT 99 A TR g B c g A A
GRkaul
e 18 min/ 18 fiAe
* 27 min/ 27 fae
e 36 min/ 36 fc
* 54 min/ 54 fAe
Correct Answer :-54 min/ 54 fiFe
5)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁ'ﬁ &R gAP Sgdr T aﬁﬁm ta_ab_a_bb_
bbb _a

® bbaab
® abbba
® bbabb
® bbbab

Correct Answer :-bbbab

6)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWAT FAHR 9TAT BT TR BIOT :

145, 170,197, ,257
° 226
e 225
e 224

® 230



Correct Answer :-226

7)
Question Stimulus :-

A grocer buys 600 eggs at 75 paise each out of them 50 eggs were found broken. At what rate should he

sell the remaining eggs so as gain 10%? /WWGOO 38 75 ﬁ-\&ﬁ'aﬂm%, ITH ¥ 50 Gﬁﬁmﬁﬁél
IAD! 99 g S frat H 99 A1RY Bt SABT 10% BT GATHT 512

e 80 paise / 39 80
e 90 paise/ T 90
® Rs.1/¥UT 1
* Rs.2/FUT2

Correct Answer :-90 paise/ T 90

8)
Question Stimulus :-

By selling a silver necklace for Rs 657, a jeweler loses 8 %:%. For how much did he purchase it? / 657
FUY & TP Il TR B FAt BIP U g B 8 %% Bt g1+ geft 31 vam Y 9 a1 R fopam & vadiar
yr?

° 720

° 620

e 520

® 420
Correct Answer :-720
9)
Question Stimulus :-

What is the fourth proportional to the numbers 50, 35 and 20? / 50, 35 and 20 T@T3if BT

YT FHTIUT IS T 32
* 16
° 14

* 18



* 15
Correct Answer :-14
10)
Question Stimulus :-

Complete the series choosing the missing number: / AW JBAT AHT 4TAT B TRT DIOIT :

50,38,29, ,20
° 25
° 24
° 22
* 23
Correct Answer :-23
11)

Question Stimulus :-
In a code, 904 means ‘prices are low’, 389 means ‘stock§ very low’ and 487 means ‘prices
very high’. What is the code for ‘prices very low’? / Td Tobhd 'l?r, 904 Hddd ‘prices are low’,
389 Hddd ‘stocks very low’ Ud 487 Hddd ‘prices very high’| ‘prices very low’ & fore @ Tddbd
ghm?

® 403

® 942

® 489

® 390
Correct Answer :-489
12)
Question Stimulus :-

A man walks to a place at the rate of 4 kmph, and comes back on a bicycle at 16kmph.the
average speed for the entire journey is? / T& 3eH! Th RIH W 4fFHl/90¢ & X A Ud Id o1
SITeT 8, 3R 999 Iisfea W 16fFH/gue § amar 3] @ ann # sia T gifi?

® 6.2



® 6.4

® 6.6

® 6.0
Correct Answer :-6.4
13)

Question Stimulus :-

In a language, ena bil means ‘cold water’, rip ena means ‘very cold’, hab jar
means ‘sweet dreams’ and jar rip means ‘very sweet’. Which of the following
means ‘sweet water’? / Td YUl ﬁ ena bil Hddd ‘cold water’, rip ena Hddd ‘very
cold’, hab jar Hddd ‘sweet dreams’ €4 jar rip Hddd ‘very sweet’. g d & feaer
3 BRI ‘sweet water’?

® rip bil

® rip hab

® jar bil

® jar ena
Correct Answer :-rip hab
14)

Question Stimulus :-

In a certain code language KIRAN is coded as LISBO then in that language SRIKANT is
coded as: / f&dl @RI Hiksfa® HET #, KIRAN &1 LISBO I ®ifsd fovar wirar € ot 39 Hmwr o
SRIKANT &I U Sifsd forar smam:

® TSILBOU
® TSILBMU
« TQILBOU
« TSILBOV

Correct Answer :-TSILBOU

15)

Question Stimulus :-



A person purchased a phone and got a discount of 5% from dealer. He sold it at a profit of 10% on his purchase price. What is

his percentage on actual price of the phone?/ Tdh iR 3 BT @ieT 3R Ig®! AT ¥ 5% 3&@? foreft A
ST WEEL §5 FIHA W 10% & GATH W IAD! 99 a1 B9 ot arafas Siaa |§ IFST fban wfawa

e g1

1
* 22%

[

e 3

%

1

e 420

5%

1
Correct Answer :-4: 9%

16)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 28 T4 IR yal & ¥ 9 RA T va F Sl T9H F19 A1 T 81 82

Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charlemont, Massachusetts 01339

(800) 532-7483

(i) Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charlemont, Massachusetts 01339

(800) 532-7483

(ii) Zoar Outdoor
E-Mail: zoarout@aol.com

Mohawk Trail



Charlemont, Massachusetts 01339

(800) 532-7483

(iii) Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charilemont, Massachasetts 01339

(800) 532-7483

(iv) Zoar Outdoor

E-Mail: zoarout@aol.com

Mohawk Trail

Charlemont, Massachusetts 01339

(800) 532-7483

® ii

® jv
Correct Answer :-iii
17)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / g GHT% P §91 & o
a9 I@T A< fpat @t @i &t smazasarn g




Correct Answer :-6

18)
Question Stimulus :-

If COLOURED is coded as 37274568, how will RULER be coded as? / Tf¢ COLOURED &Y 37274568 & difsd forar

SITdT 8, @1 RULER BT $A Sifed fpar SIram?
e 46852
e 54268
e 54265
e 54285

Correct Answer :-54265

19)

Question Stimulus :-

1,87 BN 2. [ 7 R B

2 — (S — et

73 %39 9 jsequalto/ 7 9 9 2 39 W%%’?ﬁ?

-uJ|u.'.

[
=N

1
Correct Answer :- /

20)



Question Stimulus :-

In the sequence shown below, which figure comes next? / it @R Ta HH ¥ 3Tl Mpfd
Hi &t gift?

elsle L Jole 9C0O *80
L el L el eCO @00
88 *e o0 o0
*8C
eCe
oee
[ ]
olel
ol 1
QOO
[ ]
L 1 1o
L 4 1o
o0
(]
o0
®00
o0 e
(]
e
L 4988
oee

Correct Answer :-

21)

Question Stimulus :-

A and B can do a work in 25 days and 20 days respectively. They worked together but B leaves after some days
and then A completed the remaining work in 10 days. The number of days after which ‘B’ left the work was / A
3R B TP &0 &) AR 25 a7 3R 20 feq & W1 w7 G@vd 1 3= vwary w19 frar afed oo feat
mglgm%ﬁ%sﬁvﬁwaﬁgqmaﬁAﬁ 10 o= & @1 fpan| fat Y e e ugra B A
DIH

[ ]
()]
Lad | =

Lad | b2

[ ]
(o)}
Fa | —



Correct Answer :-

22)
Question Stimulus :-

In a code, 793 means ‘big fat man’, 534 means ‘poor old man’ and 416 means
‘poor little girl’. What is the code for ‘girl’? / Th Tdbd 'l?f, 793 Hddd ‘big fat man’,
534 Hddd ‘poor old man’ Td 416 HAAd ‘poor little girl’. ‘girl’ & T Fa1 Hdva BRIT?

® Cannot be determined / fAuffRa &Y far s g&war
Correct Answer :-Cannot be determined / fAuifa =g} far w1 Gaar
23)

Question Stimulus :-

In a class there are 15 boys and 10 girls. One student is selected at random. What is the probability that the selected
student is a girl? / T BT H 15 TS® 3R 10 ASTHAT &1 TH B B ST &1 T W14 8 | 1 JUTST 8
o Tafra ol § te as ol 82

® 3/5

® 4/5

® 2/5

® 1/5
Correct Answer :-2/5
24)

Question Stimulus :-

919K /418 = 22

Where K is representing a numeral; what is ‘K’? / 919K /418 = 22 SIgT K Th TSP %; dad ‘K’ =T %?

® 6



e 9
Correct Answer :-6

25)
Question Stimulus :-

Two numbers are less than a third number by 25% and 30% respectively. How
much percent is the second number less than the first?/ a’f LIEE2 1Y TR HEm 9
UM 25% 3R 30% U &1 Ol G& Ugdl | foha- ufa=a o4 82

1
77%

3
7%

2
77%

7%

i
Correct Answer :-77%

26)
Question Stimulus :-

The series given below contains a s.equence.of.al.phabets and numbers. Identify tl_\e
incorrect combination: / R & T3 sRae &Rt Td WwTSH HT JHH WART H el §| Tad Ao
ggaIg|

(i) df8o7e6uwz
(ii) df8o7e6uwz
(iii) df8o07e6uvvz

(iv) df8o7e6uwz

® j

® jii
® jv

Correct Answer :-iii



27)
Question Stimulus :-

103 x104 =7
e 10712
e 10000
e 10812
e 10512
Correct Answer :-10712

28)

Question Stimulus :-

In the foIIowing qyestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy §, = 9@ A TS US o @] TAd UG yId Hifold| 4,9,19,40,79

® 40

Correct Answer :-40

29)

Question Stimulus :-

In covering a distance of 30 km, A takes 2 hours more than B. If A doubles his speed, then he would take 1 hour less

than B. A's speed is/ 30 fH} Pt g8l &Y a0 HXA T, A B B Bt a1 # 2 1 3ifUew a1 g1 afe A Sro=it ifq )
SHIAT R AT 3, a1 STD! B A 1 6T FH M A H A 3

o 5hrs/5'ﬂ%

1 1
e« 52hrs/ 52 ®cd

® 6hr/ 6Hc



1 1
e« 62hrs/ 624¢

Correct Answer :-5 hrs/ 5 9¢
30)

Question Stimulus :-

(21x3)/7-4x(15/5)-(30/2)x15=?

® -265
e .228
e -230
& -250

Correct Answer :--228

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Which of the following pair of figures are similar? / ek kack:| \?rl'l'?'ﬁ'fﬁ DT g ga=Y %?

."!:._ 1.5 cm i i} 21 ¢m C
l.'-rm-"-: .-_"
.-_" 15 em Llem 2.1 em
P
. 15am @ A 11lem B
18] G fm I g remm Eine R
/120
iem . 3 l:lr-lx.’. : .
_Iwﬂ _"-»]I},I:l .
A & cm B P & om Q
[ ]
8
D leam ¢ 4.3 ems ™
42 cm
P “
lem 1.1 em ™ :
;R
4.1 ¢m ry
A 2 1cm B ; 4.2 em



A -'13
[ ]
8
D llam g 42em"
| 4.2 ¢
P
Ilem 121 ¢m
R
4.2 em
A 1] em B 4.2 cm
Correct Answer :- k)

2)
Question Stimulus :-

Turmeric which is a natural indicator, when added as a paste to HCL and NAOH separately, the colors observed will be
/ TS, St WIPpTad qad 8, 919 HL 3R NAOH T SIERT-3eT 98T R e & ©U § STaT o1dT 8, Hfara
g

* Yellow in both acid and base / 3% Ud &R® Gl & Wia

® Yellow in acid and red in base / 3¥1 # fia 3R L IREa | are

® Pinkin acid and yellow in base / 3% s | 'ﬂ?I'ITSﬂ 3R &R® § dia

® Red in acid and blue in base / 3+ H a1 3R &Wﬁ aa

Correct Answer :-Yellow in acid and red in base / 3% # fia ok &R | wrel

3)
Question Stimulus :-

The area of a triangle ABC, whose coordinates are A(xy, y1), B(X3, ¥2), C(x3, y3) is given by /

PraTor ABC & I A(xy, y1), B(xg, ¥2), C(x3, y3) &, SUPT gAPAGIN
* Y xp(y2-y3) +xa(y3-y1) + x3(y1 - ¥2)l
® 2 [x1(y2-¥3) + x2(y3 - y1) + X3(¥1 - ¥2)I
* yi1(X2 - X3) +¥2(x3 - X1) +y3(x1 - X)

* Y [x1y1 + X2¥2 * x3Y3]

Correct Answer :-y;(x; - X3) + y2(X3 - X1) + y3(X1 - X3)



4)

Question Stimulus :-

The sexual reproductive part of the plant are/tﬁ%n: BT A YSI== HTIT %

® Flowers /™

® Stamens/ W

e Pistil / THET

® Zygote / JIH-

Correct Answer :-Flowers / T

5)

Question Stimulus :-

Following graph shows the nhumber of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer thg following questions using the information
provided. / 9 IT% 3r@af 1999 & 2004 9%

# 3fipe) foam g1 STy BRI TS WHPRI BT IUANT I 9 Harel & ward S|

International Tourist Arrivals ('000s) | ¥aA¢E THeHl =1
A= [ "000s)

Source/
i 1999 | 2000( 2001 2002 | 2003 2004
Africal3
VT 26 27 28 29 31 33
Americal
FFARET 122 128 120 115 113 126
Asia
Pacific/
LIETR)
EENG] 103 115 121 131 120 153
Europe/
T 381 393 N 400 396 415
Middle
East/
Fex 21 24 24 28 30 36

P YR # MTHA $1 BT (FIRI H1 T=T



From which source has the percentage growth of arrivals been the lowest over the period 1999-2004? / 3aftr 1999-

2004 3 f5g Wid & W $ ufazra i g9 o4 535 82
® Africa/3TBIPT
® Americas / SAR®T
® Asia Pacific / TR U=Iid
e Middle East / H¢ Td
Correct Answer :-Americas / FAR®T
6)

Question Stimulus :-

When crops like onion, radish, carrots are grown in the field, we find the young vegetables available in the market.

Why is it so? / ST9 WTSl, Jei, 7ok o) waal 9 Wal # gfe gidl 8, 80 gar Jfeqal & R o Iuas!
U g1 T ) ghar 82

® People prefer to have young vegetables like spring onions, etc / AT Wmaﬁﬁ?
T W S P UHE P §

® There is lot of taste difference in the different stages of growth of vegetables / W%Rﬁ 3| q@ @t ﬁﬁ-ﬁ
JaeyTi § T | 9gd 3a¥ 8

® This is done to avoid over-crowding of growing plants. So, the young plants are removed from time to time as

they grow / T8 HTY forar wiraT & orrw {6 gfs ox ¥@ wrel &Y orfar e & == o 9| s9fee
B gar Wl S JHT IHg R ger foar wrar @

® People like to have some of the crops regularly in their diet. Therefore, these crops are removed from time to
time. / @ 8 BHal &I fFafia TU A (U=t RIS A WA AT WG Fd 8| AT T8 Bod
THY-999 W geT &I 9! Bl

Correct Answer :-This is done to avoid over-crowding of growing plants. So, the young plants are removed
fromﬁmetoﬁmeastheygrowlwmﬁmW%mﬁ?ﬁmﬁﬁﬁﬁ GlﬁﬂﬁTﬁW\_ﬂT
& | 3afae g gar vl &) 99 99y W el four smar

7)
Question Stimulus :-

Which of the following serves as green lungs / ffgdaa CaC @ m & U H H1d Hdl %

® Green house / "Jﬁ’"l?l?'\q
® Gardens / CRIE]

® Forests / dd



® Green- house gases / "Zﬂ_'ﬁ'm i

Correct Answer :-Forests / d4

8)
Question Stimulus :-

1 litre of water at 40°C is mixed with 1 litre of water at 60°C. What will be the approximate temperature of water

afteracertaintime?/40%ﬁma71%“@60%’5‘1@@?%l?ﬂa\_ﬁaaimq
feraman <mar 81 fFraa w9 91g 9@ &1 Afade a9EE |1 g

e 100°C / 100 f&I AfRTTTI
e Between 40°C and 60°C / 40 f&ft AfRaw vd 60 ff AfRaw & T4

e More than 60°C but less than 100°C / 60 & Gf}rw A sifte afeT 100 f&f AR A
DHI

e 20°C /20 &3 AfRTHI
Correct Answer :-Between 40°C and 60°C / 40 f3ft 9f®w vd 60 it AfRTY & dH1
9)

Question Stimulus :-

Sliding friction is always / gfta 'EI'EfUTH%H ﬁ?ﬂ% :
® Less than rolling friction / e YU § HH
e Greater than rolling friction / &9 94U § 3R
® Equal to rolling friction / S YT & JHIE
e Greater than static friction / Rfd® T @ it

Correct Answer :-Greater than rolling friction / &9 g4Ur ¥ 3ffde

10)
Question Stimulus :-

The manmade fiber obtained by chemical treatment of wood pulp is / & ﬂ"l‘cﬂ ¥ IHAE IUER A A
ffifa Y @

® Rayon / 3T

® Polyester / Tiferdex



e Nylon / =I'I§?ﬁ7-l

e Terylene / e
Correct Answer :-Rayon / ¥3{i9
11)

Question Stimulus :-

Combustible substance obtained from decaying organic matter is / &IHTT wig yerd 9§ ure ggRia uerd E"Tﬁ'
q R

® hydrogen / ETEgIoI

® petroleum / ﬁg‘rﬁmﬂ

e BothAandB /3l A3RB
® carbon /ﬂ)‘lﬂ‘l

Correct Answer :-petroleum / UgIferad

12)
Question Stimulus :-

If the sum of 2 numbers is 27 and their product is 182, find the numbers. / ?T% 2 I BT AT 27 % Gﬁ? IADPT
TUF%d 182 8, @ T=IE fA1ferg|

20and7 / 20 3R 7
15and 12 / 153X 12
13and 14 / 133 14
19and8 / 193X 8

Correct Answer :-13and 14 / 13 3R 14

13)
Question Stimulus :-

Which of the following type of soil has the smallest particle size? / a4 9§ fra o @t Hal & HUN BT
ITPR HH BleT gl 32

Sand / dT¢]

Silt / T



Clay / fa&=it gar
Fine sand /'FI%’FI’ CLES

Correct Answer :-Clay / fiI&-1 a1

14)
Question Stimulus :-

To put out fires involving electrical equipments and inflammable materials, the best fire

extinguisher would be / fagad IuHUN 3R STa-=Na Uerif ¥ goa fY &1 g & e wday
S R

Water / ©d
Blankets / Pad
Carbon dioxide / PTa- SIZATRITSS

Sand / ST
Correct Answer :-Carbon dioxide / PTH STSIATHATSS

15)
Question Stimulus :-

Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information

provided. / 9 W% 3raft 1999 ¥ 2004 & SWRIFHA Thed HT URA H ANTHA BT VST (TR P H&AT
H 3ipe) REMI g1 SUTSH HRE TE THGRI BT ITANT S 1Y Hara| & sa™ ¢



International Tourist Arrivals ('000s) | ¥aWEER gdeHi
A= [ "000s)

Sourcel
o 1999 | 2000( 2001 2002 | 2003 2004
Africal3r
WY 26 27 28 29 31 33
Americal
FTHRET 122 128 120 115 113 126
Asia
Pacific/
TR
EEIG 103 115 121 131 120 153
Europe/
ERL 381 393 391 400 396 415
Middle
East/
Fer g8 21 24 24 28 30 36

In which year has the total number of international tourist arrivals from all the above sources been the lowest? / o CL

A SR T 7T Tt el A SRR wewt F AT F FA G Ta F 2
1999
2001
2000
2003

Correct Answer :-1999

16)

Question Stimulus :-

The product of 22 x 22000 » 5 using law of exponents is equal to / ufdures & a9 &1 wanT
Fd §U 22 x 22000 x > 7 UAEE ¥ quH gl
24001

24000



22003

22002

Correct Answer :-22003

17)
Question Stimulus :-

A discount of 30% on the marked price of a toy reduces its S.P by Rs. 30. What is the new
S.P? / U% QA & 3ifhd Iod IR 30% @t e 34 R ST fA%ha Ted 30 ©UT HH gl 91al g1 =141 fasha
el (S.P.) ¥R ?

100

130

70

30
Correct Answer :-70
18)
Question Stimulus :-

Following graph shows the nhumber of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information
provided. / 9 1% 3raft 1999 ¥ 2004 & SFWRIFHA Tded HT URA A ANTHT BT VST (FIARI B H&AT
# 3fipe) fREMI g1 Iy SRS TS WFSRI T ITANT H Y9 Fareil & oard S



International Tourist Arrivals ('000s) | ¥aWEER gdeHi
A= [ "000s)

Sourcel
o 1999 | 2000( 2001 2002 | 2003 2004
Africals
WY 26 27 28 29 31 33
Americal
FTHRET 122 128 120 115 113 126
Asia
Pacific/
TR
EEIG 103 115 121 131 120 153
Europe/
ERL 381 393 391 400 396 415
Middle
East/
Fer g8 21 24 24 28 30 36

From which source has the growth in the number of arrivals been the highest over the period 1999-2004? / 1999-2004

# fra did & ST $t T=IT | I=dH i §3 872
Americas / SAR®T
Asia Pacific / TfRTaT W=Iid
Europe / XU
Middle East / T¢ Td

Correct Answer :-Asia Pacific / TRIIT URTd

19)
Question Stimulus :-

Greenhouse effect is caused due to / HFERY YHE 90 T FI\ USdT 82
UV rays /T;Iff fopeol
IR rays /an's‘am ot



Cosmic rays /Gi?lﬁ'&‘[ fpvol

Microwaves / J&H aal

Correct Answer :-IR rays / 33X fH0f

20)

Question Stimulus :-

Following graph shows the nhumber of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer the following questions using the information
provided. / 9 9% 3rafy 1999 & 2004 & 3
# 3iee) A 21 Iudsy HIE TS WFSRI T ITANT H Y9 Farel & oare S

International Tourist Arrivals ('000s) | 3¥aEEE e
rarA= ( "0005s)

Source/
i 1999 | 2000 2001 2002 | 2003 2004
Africals
W 26 27 28 29 31 33
Amerncal
FHAR 122 128 120 115 113 126
Asia
Pacific/
i
PEIGH 103 115 121 131 120 153
Europe/
o 381 393 391 400 396 415
Middle
East/
Fex od 21 24| 24| 28 30 36

Pt YR H MTHA $1 T (FIRI BT T=AT

From which source has the percentage growth of arrivals been the highest over the period 1999-2004? / 3rafir 1999-

2004 A {59 Wd & mra &1yl gfS Swaw g8 22

Africa / 3PIBT

Asia Pacific/ Qﬁ'I'QT RIIG]

Europe/ W



Middle East/ e qd
Correct Answer :-Middle East/ 7 Td

21)

Question Stimulus :-

After playing foot ball, Ramu felt tired and was breathing fast. What can be the possible scientific reason? /
Pedrd Wa- & a1¢ I DI YBTH AT 53 SN af doil A T a9 7| FHBT T U d|TD BRI
B TPl 32

The food that he consumed might have exhausted / HIeE S 39 ‘;IE'UTﬁ)‘CIT % a1 TH E’f
T BT

Blood circulation may not be efficient / Iad TR0l Taiw 81 @

Supply of oxygen was not enough to produce energy / et fafor & ﬁl’E ST 3 Gl'l'l]ﬁf i qﬁ

He lost much water through sweating / wfR & gR1 39A 9ga a1 Ut & fear @

Correct Answer :-Supply of oxygen was not enough to produce energy / Sul fAwfor & ﬁl’({ SfTRITeT Bt
3myfd vt T8 8

22)

Question Stimulus :-

The lines x + 2y = 5 and 2x + 4y = 10 graphically represents ./ WTE X+2y=5 3R 2x + 4y =10 Eﬁlﬁﬁ =q

& gt &
2 perpendicular lines / 2 Td WTQ
2 co-incident lines / 2 TRt m
2 lines which intersects at (1,2) / 2 m il (1,2) R yfasde Hedl %
2 parallel lines / 2 JHIGR WTE
Correct Answer :-2 co-incident lines / 2 JUTdl ¥@TT

23)

Question Stimulus :-

A box contains Rs. 180 of one-rupee, 50-paise and 25-paise coins in the proportion of 2 : 3 : 4. How many 50-paise coins does
it contain? / T ¥a0 W 180 ¥o & 2:3:4 3JUId & 1-FUY, 50-UF T 25-17 & Ry &1 399 50-19 &
e Rrads Tmifay §2



150
180
120
240

Correct Answer :-120

24)

Question Stimulus :-

A collection of points in a plane which are at a constant distance from a fixed point is called a ./ it

faa fig @ RR & R te &1 aa A famsh &1 9g=

FHEAT gl

Ellipse / didga

Circle / g

Parabola / URdcld

Hyperbola / SffdtRaed
Correct Answer :-Circle / 9d
25)

Question Stimulus :-

T_he volume of a cuboid with length ‘x’, width ‘y’ and height ‘2’ is
TS 7 8, SUPT AT

2(xy +yz +xz)
XV +)Z+X2

X*Y*Z

X*y*z

Correct Answer :-

26)

Question Stimulus :-

./ u® g el g e disTs 4y SR



Pick out the nonmetal which is a liquid at room temperature ? / 3 3UTq BT I W S FA P

AT W 59 it 82
Phosphorous / PTEBIR™
Bromine / SYHIA
Todine / TATSI
Carbon / BTa

Correct Answer :-Bromine / STHIF

27)

Question Stimulus :-

Following graph shows the number of International Tourist Arrival to India (figures in
thousands) from 1999 to 2004. Answer thg following questions using the information
provided. / 9 9% 3@ftr 1999 ¥ 2004 9%

# 3fipe) foamr g1 Uy PR TS SHPRI BT ITANT I 9 HaTe! & Sard S|

International Tourist Arrivals ('000s) /| ¥aRECH THeHi 1
HrarA= ( "0005s)

Source/
i 1999 | 2000 2001 2002 | 2003 2004
Africals
W 26 27 28 29 31 33
Americal
FART 122 128 120 115 113 126
Asia
Pacific/
[UEIE]
PEIG] 103 115 121 131 120 153
Europe/
B 381 303 391 400 396 415
Middle
East/
Fex od 21 4| 24| 28 30 36

P YR H 3MTHA P T (BRI BT T=T

In which year has the increase in the total number of international tourist arrivals from all the above sources been the

lowest? / f® adf # SR AT 7T Wl Wil ¥ ST Wesl & NTHA F oA GO H iS g FH @1 82



2000
2001
2002
2003

Correct Answer :-2003

28)

Question Stimulus :-

Which one among the following options is not defined? / fFafafaa & @ 19 a1 e wRufia T8l %?
sin 0°
cos 0°
tan 0°
cosec 0°
Correct Answer :-cosec (°
29)

Question Stimulus :-

Percussion instruments are / URAST 4T € :
Tabla, Dholak, & Drums / T¢I, glei® T4 SH
Sitar, veena ,violin / RyaR, dium, arafera
Cymbals ,ghatam, not / Iﬁﬂﬂ, YTdH, T8l
Jaltarang,ektara, kartal / STeld_il, SHARI, HIATA

Correct Answer :-Tabla, Dholak, & Drums / 98I, ¢ld® T4 H

30)
Question Stimulus :-

Name the tissues through which the water and dissolved minerals are transported in plants. / 3 Ghddh BT ATH ddIgT

R gr1 oa @R fael @t dial & ugea @
Phloem/tﬁ"slﬂ'lg



Xylem / SIIgTH
Root hair / {c& A
Veins / R

Correct Answer :-Xylem / GIgdH
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